
b(E)× 106 [cm2g−1] for
G10

〈Z/A〉 = 0.51176

E [GeV] bbrems bpair bnucl btot

2. 0.3241 0.1440 0.4777 0.9458
5. 0.4411 0.3582 0.5058 1.3051
10. 0.5381 0.5416 0.4901 1.5699
20. 0.6404 0.7384 0.4668 1.8457
50. 0.7796 1.0167 0.4412 2.2374

100. 0.8828 1.2117 0.4286 2.5231
200. 0.9814 1.3890 0.4220 2.7925
500. 1.0974 1.5748 0.4210 3.0932
1000. 1.1719 1.6834 0.4273 3.2827
2000. 1.2338 1.7622 0.4387 3.4348
5000. 1.2959 1.8313 0.4601 3.5873

10000. 1.3293 1.8637 0.4819 3.6749
20000. 1.3533 1.8843 0.5077 3.7453
50000. 1.3738 1.9003 0.5480 3.8222
100000. 1.3840 1.9069 0.5829 3.8737


